Penthouse in Qawra



Reference No: 240091098-123

Qawra, North



€500,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 272

P☐ Bedrooms: 3

Penthouse - For Sale - Qawra

QAWRA: Massive Penthouse being sold fully furnished and full roof airspace with possibility for develop further on its airspace. penthouse offers 3 double bedrooms, main with en-suite, spacious Kitchen/Living/Dining open plan, guest bathroom, washroom, box room, double glazing throughout, lovely 90sqm front terrace with ample BBQ area and further 2 back balconies. Fully equipped kitchen with appliances, full airspace with possibility to add another floor. Also included in the price are Solar Water Heater, A/C units, TV, and 10 PV Panels. Optional interconnected 3-car garage with storage space. Contact agent immediately for a viewing.

Features

- Ceramic Floor
- ✓ A/C
- Air Space
- Roof Terrace

- ✓ Video Hall Porter
- Terrace
- Balcony

Rooms

Kitchen/Living/Dining: 6.65 x 7.32 m (48.68 m2)

Double Bedroom : 3.4 x 3.5 m (11.9 m2)

Double Bedroom : 3.6 x 3.1 m (11.16 m2)

Double Bedroom : 2.95 x 5.15 m (15.19 m2)

Bathroom: 1.5 x 2.35 m (3.53 m2)

✓ Bathroom Ensuite : 1.35 x 2.12 m (2.86 m2)

✓ Laundry: 2.5 x 2.5 m (6.25 m2)

Open Space : 1.6 x 7.05 m (11.28 m2)

Open Space : 1.6 x 7.25 m (11.6 m2)

Open Space : 4.25 x 18.9 m (80.32 m2)

Gallery





















David Buttigieg RE/MAX Crown - Sliema

M: 79430251

E: david@remaxcrown.com

T: 21342410

RE/MAX Crown - Sliema

165, 166, 169, Tower Road, Sliema, Malta